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- SEMMO TiRICHEET 51 SEMHA
B8 TREFOBBOEILADKES rTaFOHBESELHDOKRES TREFOBBOEILADKRES TREFOHBESILIDOKRES
5 R 4 =& | Fmb o0 ragE ADKES X 4 THALDKE | ma ADKES X 4 =s | Lmhb0keE ADKES X 4 ERACDES | ma ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/mi) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 6.70 84.60 | #h L4 | 000 ~ 0.00| 1.61 8.11 zhnLs 1.00| 500 ~ 8.70 84.60 | Zh L4t | 500 ~ 870 | 1.61 8.11
) 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00| 000 ~ 6.27 78.71 | Zh st | 000 ~ 0.00| 1.78 8.97 st 1.00| 500 ~ 7.30 78.71 | Zhiis | 500 ~ 730 1.78 8.97
3 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 6.26 78.70 | Fh st | 000 ~ 0.00| 1.78 8.98 s 1.00| 500 ~ 7.30 78.70 | #h L4 | 500 ~ 730 1.78 8.98
4 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 5.92 7414 | Fhiist | 000 ~ 0.00 | 1.73 8.73 st 1.00| 500 ~ 6.70 7414 | Zhiist | 500 ~ 6.70 | 1.73 8.73
5 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 5.94 7438 | #h L4t | 000 ~ 0.00| 1.68 8.48 s 1.00| 500 ~ 6.80 7438 | #h L4 | 500 ~ 6.80| 1.68 8.48
6 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 4.77 59.50 | #h st | 000 ~ 0.00| 1.74 8.77 st 1.00| 500 ~ 5.00 59.50 | #h L4t | 500 ~ 500 | 1.74 8.77
; 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 5.65 70.59 | #h st | 000 ~ 565| 1.84 9.29 st 1.00| 500 ~ 6.40 70.59 | FhList | 500 ~ 640 | 1.84 9.29
8 100kN/MZ#B% % — -~ — —(3mZiEZD -~ — - — | 100kN/mM%E#B 2% — -~ — —|3mFHEZ B -~ — - -
Zhst 1.00 | 000 ~ 5.04 62.79 | #h L4t | 000 ~ 0.00| 1.67 8.46 s 1.00| 500 ~ 540 62.79 | h LSt | 500 ~ 540 1.67 8.46
100kN/M%#B% % ~ ImEHEAD ~ 100kN/m%#B %% ~ ImEEZD ~
Zhst ~ zhst ~ Zhst ~ zhsh ~
100kN/M%#B% % ~ ImEHEAD ~ 100kN/m%#B %% ~ ImEEZD ~
Zhst ~ zhst ~ Zhst ~ zhst ~
100kN/M%#B% % ~ ImEHEAD ~ 100kN/m%#B % % ~ ImEEZD ~
Zhst ~ zhst ~ Zhst ~ zhst ~
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zhst ~ zhs ~ zhst ~ zhst ~
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/m%#B %% ~ ImEEZD ~
Zhst ~ zhst ~ Zhst ~ zhs ~
100kN/MZ#E% % ~ ImEHEAD ~ 100kN/m%#B %% ~ ImEEZD ~
Zhst ~ zhst ~ Zhst ~ zhst ~
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/mM%#B %% ~ ImEEZD ~
Zzh st ~ Zh sk ~ Zzh st ~ Zh sk ~
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